CHif - [9)

TELK [ A [ 130
ik | i |:—r b | HHf I F3 NS 3 ST N): ST 0 BTN N : SUTN ) UTRN W VRV I fi%
F6E B W = &
= i
1. JKP9ER{R
(1) Rk -Fy b5
NfAUL B (S5400) M10X16m 0000 M ke 225 225 225 225 213
(55400) M12X16m 0000 1/ ke 205 205 205 205 194
(55400) M10X2Omn 0000 M kg 225 225 225 225 213
(55400) M12X20m 0000 kg 205 205 205 205 194
AfaARL B (S5400) M14X20m 0000 M/ kg 205 205 205 205 194
~(S5400) M1 6 X2 0mn 0000 9 kg 175 175 175 175 166
(55400) M10X25m 0000 M/ ke 225 225 225 225 213
(55400) M1 4X25m 0000 ke 205 205 205 205 194
L (S5400) M10X30m 0000 1/ kg 225 225 225 225 213
(55400) M1 4X30m 0000 M ke 205 205 205 205 194
L (S5100) M2 0 X3 0m 0000 ke 175 175 175 175 166
(55400) M2 2 X 3 Omn 0000 M ke 175 175 175 175 166
(55400) M2 4 X3 0000 M/ kg 175 175 175 175 166
(55400) M14x3 0000 4/ ke 205 205 205 205 194
(55400) M20 X3 0000 M kg 175 175 175 175 166
L (S5400) M2 2 X3 5m 0000 1/ kg 175 175 175 175 166
Afg AL B (S5400) M2 4% 3 5mn 0000 M/ ke 175 175 175 175 166
ANFARL R (S5400) (M 1 4 X 4 Omm 0000 M kg 205 205 205 194
(55400) M2 2 X4 Omn 0000 M/ ke 175 175 175 166
(55400) M1 44 5m 0000 M kg 205 205 205 5 194
(S5400) M1 84 5m 0000 1/ ke 246 246 246 246 212
(55400) M2 4 X4 5m 0000 M/ kg 175 175 175 175 166
(55400) M1 4 X5 0m 0000 9/ kg 205 205 205 205 194
(55400) M1 8X50m 0000 M/ ke 216 246 246 246 212
(55400) M3 05 0mn 0000 ke 230 230 230 230 218
(55400) M14x55m 0000 1/ ke 205 205 205 205 194
(55400) M1 8X55m 0000 M ke 246 246 246 246 212
AR R (S8400) M2 2 X5 5m 0000 1/ kg 175 175 175 175 166
A fRL B (SS400) M2 4 X5 5m 0000 11 kg 175 175 175 175 166
(55400) M3 0X55mm 0000 M. ke 230 230 230 230 218
(55400) M 146 0m 0000 1 kg 205 205 205 205 194
(58400) M 186 0m 0000 I/ ke 246 246 246 246 212
(S5400) M3 0% 6 Ommn 0000 M/ ke 230 230 230 230 230 218
(55400) M3 6 X 6 0mm 0000 M ke 242 242 242 242 242 230
(55400) M1 4 X6 5m 0000 1/ ke 205 205 205 205 205 194
M 18X 6 5mn 0000 M kg 246 246 246 246 246 212
M3 06 5mn 0000 1/ ke 230 230 230 230 230 218
M3 6 X6 5mn 0000 kg 242 242 242 242 242 230
IM 1 4 X 7 Omm 0000 ke 205 205 205 205 205 194
M1 87 Omn 0000 1 ke 246 246 246 246 246 212
(55400) M3 6 X 7 Omn 0000 11 kg 242 242 242 242 242 230
(55400) M1 4X75m 0000 [ ke 205 205 205 205 205 194
(85400) IM 1 8 X 7 5mm 0000 M. ke 246 246 246 246 246 212
(55400) M2 2 X 7 5mn 0000 [ kg 175 175 175 175 175 166
N fRL B (S5400) M2 4 X7 5m 0000 1 ke 175 175 175 175 175 166
16_ M ER % (H30.11.1).xlsx 1/8
— - CHAT = 1)
X ] o H30
o3 Hiks e e TATH ATH G THIN SHATH T TTATH f

Afg AL R (S5400) M3 0X7 5mn 0000 M/ ke 230 230 230 230 230 230 218
(55400) M3 6 X7 5mn 0000 M ke 242 242 242 242 212 242 230
(55400) M14X80m 0000 1/ kg 222 222 222 222 222 222 194
(55400) M1 8X8O0mn 0000 M/ kg 246 246 246 246 246 246 212
(85400) M3 6 X8 0m 0000 4/ ke 242 242 242 242 242 242 230
(S5400) M4 2 X8 O0mn 0000 M/ ke 278 278 278 278 278 278 266
(55400) M10X85mn 0000 M/ ke 226 226 226 226 226 226 213
(55400) M14X85m 0000 1/ ke 222 222 222 222 222 222 194
(55400) M1 8X85m 0000 kg 246 246 246 246 246 246 212
(55400) M2 2 X 8 5mn 0000 1/ ke 175 175 175 175 175 175 166
(55400) M2 4 X 8 5mn 0000 M ke 175 175 175 175 175 175 166
(55400) M3 0 X8 5mm 0000 kg 230 230 230 230 230 230 218
(55400) M14X90m 0000 M/ ke 222 222 222 222 222 222 194
(55400) M1 8X9 Omn 0000 M kg 246 246 246 246 246 246 212
(58400) M3 6 X9 O0mn 0000 N/ ke 242 242 242 242 242 242 230
(55400) M4 2 X9 Omn 0000 M kg 278 278 278 278 278 278 266
(55400) M14X100m 0000 1 kg 255 255 255 255 255 255 223
(55400) M18X100m 0000 M/ ke 246 246 246 246 246 246 212
(55400) M 36X 100m 0000 M ke 242 242 242 242 242 242 230
(S5400) M4 2X100m 0000 1/ ke 278 278 278 278 278 278 266
(55400) M4 810 0mn 0000 M/ kg 301 301 301 301 301 301 289
(S5400) M14X110m 0000 ke 255 255 255 255 255 255 242
(S5400) M18x110m 0000 kg 246 246 246 246 246 246 212
(85400) M36X110mm 0000 M/ kg 242 242 242 242 242 242 230
(55400 M42x110m 0000 1/ kg 278 278 278 278 278 278 266
M4 8X110m 0000 1 ke 301 301 301 301 301 301 289
M14X120m 0000 M/ kg 255 255 255 255 255 255 242
M1 8X120m 0000 M kg 246 246 246 246 246 246 212
M36X120m 0000 1/ ke 242 242 242 242 242 242 230
M4 212 0m 0000 M/ kg 278 278 278 278 278 278 266
M4 8x120m 0000 4/ ke 301 301 301 301 301 E 289
M14x130m 0000 1 ke 255 255 255 255 255 242
(55400 M1 813 0m 0000 1 ke 246 246 246 246 246 212
(55400) M3 613 0mm 0000 11/ ke 242 242 242 242 242 230
(55400) M4 2X130m 0000 M/ ke 278 278 278 278 278 266
(55400) M4 813 0mn 0000 M ke 301 301 301 301 301 289
(S5400) IM14X140m 0000 1/ ke 255 255 255 255 255 242
(55400) M1 814 Omn 0000 M/ kg 246 246 216 246 246 212
(S5400) M3 614 0mn 0000 ke 242 242 242 242 242 230
(55400) M4 214 0m 0000 1 kg 278 278 278 278 278 266
(85400) IM4 8 X 14 Omm 0000 M kg 301 301 301 301 301 289
(55400) M1 415 0m 0000 M/ ke 255 255 255 255 255 242
5100) M1 8X150m 0000 M ke 246 246 246 246 246 212
) M3 615 0m 0000 1/ kg 242 242 242 242 242 230
(55400) M4 2X150m 0000 M ke 278 278 278 278 278 266
(55400) M4 815 0m 0000 4/ ke 301 301 301 301 301 289
A faRL B (SS400) M10X160m 0000 M/ ke 226 226 226 226 226 213
AfRL B (S5400) M14X160m 000 ke 255 255 255 255 242
Afg AL R (S5400) 11816 0m 000 1/ kg 225 225 225 225 213

107

16_HEMER(H30.11.1).xlsx 2/8




CHif - [9)

FEIX] AR H30 ",

i il sy | T SATH GATH AL SATH oATH T i %
(55400) M3 616 0m 0000 242 242 242 242 242 242 230
(55400) M42X160m 0000 278 278 278 278 278 278 266
(55400) M4 8X16O0mn 0000 301 301 301 301 301 301 289
(55400) M10X17O0mn 0000 225 225 225 225 225 225 213
(55400) M14X17Omn 0000 255 255 255 255 255 255 242
~ (S5400) M18X170mn 0000 225 225 225 225 225 225 213
L (S5400) M3 617 Omn 0000 242 242 242 242 242 242 230
(55400) M4 217 Omn 0000 278 278 278 278 278 278 266
L (S5400) M4 8x17Omn 0000 301 301 301 301 301 301 289
(55400) M10X18O0m 0000 225 225 225 225 225 225 213
L (55400) M14x180m 0000 255 255 255 255 255 255 242
I (S5400) M18X180m 0000 225 225 225 225 225 225 213
I (55100) M36X180m 0000 242 212 242 242 242 242 230
(55400) M4 2X180m 0000 278 278 278 278 278 278 266
(55400) M4 8X180m 0000 301 301 301 301 301 301 289
L (S5400) M10X190m 0000 225 225 225 225 225 225 213
(55400) M14X190m 0000 255 255 255 255 255 255 242
(55400) M18X19 Om 0000 225 225 225 225 225 225 213
(S5400) M3 619 0mn 0000 242 242 242 242 242 242 230
M4 219 Omn 0000 278 278 278 278 278 278 266
(S5400) M4 8X19Omn 0000 301 301 301 301 301 301 289
(55400) M10X200m 0000 226 226 226 226 226 226 213
- (S5400) M1 4X200m 0000 255 255 255 255 255 255 242
(55400) M18X200m 0000 225 225 225 225 225 225 213
L (S5400) M3 6 X 20 0mn 0000 242 242 242 242 242 242 230
(55400) M4 220 0m 0000 278 278 278 278 278 278 266
L (55400) M4 8% 20 0m 0000 301 301 301 301 301 301 289
AfARL b (SS400) M4 2X220m 0000 278 278 278 278 278 278 266
iR B (S8400) M4 8% 22 0m 0000 301 301 301 301 301 301 289
A (58400) M4 2X240m 0000 278 278 278 278 278 278 266
(55400) M4 8X 24 0m 0000 301 301 301 301 301 301 289
(55400) M4 2X260m 0000 300 300 300 300 300 300 300
(55400) M4 8% 26 0mn 0000 318 318 318 318 318 318 318
(55400) M4 228 0mn 0000 300 300 300 300 300 300 300
(55400) M4 8X280m 0000 318 318 318 318 318 318 318
(55400) M4 230 0mn 0000 300 300 300 300 300 300 300
(55400) M4 8X300mn 0000 318 318 318 318 318 318 318
(SUS304) M8 > 2 Omn 0000 800 800 800 800 800 800 760
(SUS304) M1 2X20m 0000 800 800 800 800 800 800 760
(SUS304) M8 X 2 5mn 0000 800 300 800 300 800 800 760
(SUS304) M1 22 5m 0000 800 800 800 800 800 800 760
(SUS304) M 16x25m 0000 800 300 800 800 800 800 760
(SUS304) M8 X 3 Omn 0000 800 800 800 800 800 800 760
(SUS304) M 16 %3 0mn 0000 800 800 800 800 800 800 760
(SUS304) M8 X 3 5mn 0000 & 800 800 800 800 800 800 760
(SUS304) M 163 5m 0000 5] 800 800 800 800 800 800 760
(SUS304) M 8 X 4 Omm 0000 U/ kg 800 800 300 800 300 800 760
(SUS304) M 164 0mn 000 M kg 800 800 800 800 800 800 760
(SUS304) 12 0 X4 Omn 0000 kg 800 800 800 800 800 800 760
AL b (SUS304) 8 X4 5mn 000 ke 800 800 800 800 800 800 760

16_HEHER {#(H30.11.1).xlsx 3/8
— - CHAT = 1)
X ] . H30
o3 Hiks e e TATH ATH G THIN SHATH T TTATH i

S fa AL E(SUS304) M2 0 X4 5mn 0000 M/ kg 800 800 800 800 800 800 760
NV B (SUS304) M8 X5 Omn 0000 M ke 800 800 800 800 800 800 760
N fA L R (SUS304) M10X50m 0000 1/ kg 300 800 800 800 800 300 760
N f R (SUS304) M2 0 X5 O0mn 0000 M/ kg 800 800 800 800 800 800 760
pave] (SUS304) M8 X 5 5mn 0000 ke 800 800 800 300 800 800 760
(SUS304) M10X55m 0000 M/ ke 800 800 800 800 800 800 760
(SUS304) M2 0 X5 5mn 0000 M/ ke 800 800 800 800 800 800 760
(SUS304) M8 X 6 Omn 0000 1/ ke 800 300 800 800 800 800 760
(SUS304) M1 0 X6 O0mn 0000 M ke 800 800 800 800 800 800 760
(SUS304) M8 X 6 5mn 0000 1/ ke 800 300 800 800 800 800 760
(SUS304) M10X65m 0000 M/ kg 800 800 800 800 800 800 760
(SUS304) M8 X 7 Omm 0000 kg 800 800 800 800 800 800 760
(SUS304) M10X70m 0000 M/ kg 800 800 800 800 800 800 760
(SUS304) M1 2 X7 Omn 0000 M ke 800 800 800 800 800 800 760
(SUS304) M8 X 7 5mn 0000 kg 800 800 300 800 800 800 760
(SUS304) M10X75m 0000 kg 800 800 800 800 800 800 760
(SUS304) M1 2X75m 0000 1/ kg 800 800 800 800 800 800 760
(SUS304) M1 6 X7 5mn 0000 M/ kg 800 800 800 800 800 800 760
(SUS304) M8 X8 Omn 0000 M ke 800 800 800 800 800 800 760
(SUS304) M10X80m 0000 1/ kg 800 800 800 800 800 300 760
(SUS304) M1 28 0mn 0000 M/ ke 800 800 800 800 800 800 760
(SUS304) M1 6 X8 0m 0000 ke 800 800 800 800 800 800 760
(SUS304) M2 0 X8 0mn 0000 ke 800 800 800 800 800 800 760
(SUS304) M10X85m 0000 M/ ke 800 800 800 800 800 800 760
M1 2X85m 0000 I/ kg 800 300 800 800 800 800 760
M 168 5m 0000 M/ kg 800 800 800 800 800 800 760
‘ M2 0 X8 5mn 0000 1/ ke 800 800 800 800 300 800 760
(SUS304) M8 X 9 Omn 0000 I/ kg 800 800 800 800 800 800 760
(SUS304) M10x90m 0000 ke 800 800 800 800 800 800 760
(SUS304) M1 29 0m 0000 M/ kg 800 800 800 800 800 800 760
(SUS304) M 169 0mn 0000 ke 800 800 800 800 800 800 760
(SUS304) M2 0 X9 O0mn 0000 1/ kg 800 800 300 800 800 800 760
(SUS304) M8 X 10 Omn 0000 M/ kg 800 800 800 800 800 800 760
L (SUS304) IM10X100m 0000 9/ kg 800 300 800 300 800 300 760
bk (SUS304) M1 2X100m 0000 M/ kg 800 800 800 800 800 300 760
b (SUS304) M1 6> 100mn 0000 M ke 800 800 800 800 800 800 760
I (SUS304) M2 0X100m 0000 1/ kg 800 800 800 800 800 300 760
(SUS304) M1 0X35m 0000 M/ ke 1,730 1,730 1,730 1,730 1,730 1,730 1,730
LAV b (SUS304) M1 2X35m 0000 1/ ke 2, 080 2, 080 2,080 2, 080 2,080 2, 080 2, 080
ALk (SUS304) M1 63 5m 0000 kg 2, 180 2,180 2, 180 2,180 2,180 2, 180 2,180
LRV B (SUS304) IM 1 0 X 4 Omn 0000 . kg 1, 670 1, 670 1, 670 1, 670 1,670 1, 670 1, 670
AL R (SUS304) M1 2X40m 0000 M kg 1,930 1,930 1,930 1,930 1,930 1,930 1,930
AL R (SUS304) M 16> 4 O0mn 0000 M/ ke 2,020 2,020 2,020 2, 020 2,020 2, 020 2,020
LA/ R (SUS304) M10X45m 0000 1/ kg 1,580 1,580 1,580 1,580 1,580 1,580 1,580
LAV B (SUS304) M1 24 5m 0000 M/ ke 1,950 1,950 1,950 1,950 1,950 1,950 1,950
LAY b (SUS304) M 164 5m 0000 1/ kg 2,020 2,020 2,020 2,020 2,020 2,020 2,020
LAV B (SUS304) M10X50m 0000 [ kg 1,550 1,550 1,550 1,550 1,550 1,550 1,550
LA/ R (SUS304) M1 2X50mn 0000 M/ ke 1, 860 1, 860 1, 860 1, 860 1, 860 1, 860 1, 860
MA/L E (SUS304) M16X50m 0000 [ kg 1,970 1,970 1,970 1,970 1,970 1,970 1,970
ALk (SUS304) M1 0x55m 0000 M/ ke 1,700 1,700 1,700 1,700 1,700 1,700 1,700

108

16_HEMER(H30.11.1).xlsx 4/8




CHif - [9)

JIEY R T30 _—
i il sy | T SATH GATH AL SATH oATH T i %
(SUS304) M1 2X55m 0000 1, 960 1, 960 1, 960) 1, 960 1, 960) 1, 960 1, 960
(SUS304) M1 6 X5 5m 0000 2, 000! 2,000 2, 000! 2, 000 2, 000] 2, 000 2,000
(SUS304) M1 0 X6 Omn 0000 1, 650 1, 650 1, 650 1, 650 1, 650 1, 650 1, 650
(SUS304) M1 2 X6 Omn 0000 1,870 1,870 1,870 1,870 1, 870) 1,870 1,870
(SUS304) M1 6 X6 Omn 0000 1,900 1,900 1,900 1,900 1,900 1,900 1,900
(SUS304) M10X65mm 0000 1, 620 1,620 1, 620] 1, 620 1, 620] 1, 620 1,620
(SUS304) M1 2 X6 5m 0000 1,840 1,840 1,840 1,840 1,840 1,840 1,840
(S Orl) M16X65mm 0000 1, 890) 1,890 1, 890) 1, 890 1,890 1, 890 1,890
5304) M10X7Omn 0000 1, 600 1, 600 1, 600) 1, 600 1,600 1, 600 1,600
(SUs301) M1 2X7Omn 0000 1, 860 1, 860 1,860 1, 860 1, 860 1, 860 1, 860
LA T (SUS304) M16X7 Omn 0000 1,830 1,830 1,830 1,830 1,830 1,830 1,830
(SUS304) M10X75m 0000 1,610 1,610 1,610 1,610 1,610 1,610 1,610
(SUS304) M1 2X75m 0000 1, 770) 1,770 1, 770) 1, 770 1,770 1, 770 1,770
(SUS304) M16X7 5mn 0000 1, 780) 1,780 1, 780) 1,780 1,780 1,780 1,780
(SUS304) M1 2X80mn 0000 1,710 1,710 1,710 1,710 1,710 1,710 1,710
MLA/L F(SUS304) M16X80mn 0000 1, 840) 1,840 1,840 1,840 1,840 1,840 1,840
F v b (85400 M8 0000 220 220 220 220 220 220 218
F v I (55400) M10 0000 221 221 221 221 221 221 219
F v b (S5400) M1 2 0000 224 224 224 224 224 224 222
J vk 00) M1 4 0000 214 214 214 214 214 214 212
v b (55400) M1 6 0000 178 178 178 178 178 178 177
v b (S5400) M1 8 0000 241 241 241 241 241 241 239
J v b (58100) M2 0 0000 185 185 185 185 185 185 183
J vk (S5400) M2 2 0000 M kg 193 193 193 193 193 193 192
7 v b (55400 M2 4 0000 M/ kg 249 249 249 249 249 249 246
J v R (S5400) M3 0 0000 1 kg 271 271 271 271 271 271 268
F vk (S5400) M3 6 0000 M kg 286 286 286 286 286 286 283
F v b (S5400) M4 2 0000 kg 381 381 381 381 381 381 377
J vk (S5400) M4 8 0000 M kg 410 410 410 410 410 410 406
F v I (SUS304) M8 0000 M kg 939 939 939 939 939 939 892
J v b (SUS304) M10 0000 1/ kg 1,090 1,090 1,090 1,090 1,090 1,090 1,040
v b (SUS304) M1 2 0000 M kg 1,180 1, 180 1,180 1,180 1, 180 1,180 1,120
v b (SUS304) M1 4 0000 1/ kg 1,520 1,520 1,520 1,520 1,520 1,520 1,450
J v b (SUS304) M1 6 0000 1/ ke 936 986 986 986 986 986 937
F v I (SUS304) M1 8 0000 M/ ke 1, 500 1, 500 1, 500 1, 500 1, 500 1,500 1,420
F v b (SLSSO4) M2 0 0000 I kg 1,170 1,170 1,170 1,170 1,170 1,170 1,110
) M2 2 0000 M/ ke 1, 700 1, 700 1,700 1, 700 1, 700 1,700 1,610
) M2 4 0000 11/ kg 1,640 1,640 1,640 1, 640 1,640 1, 640 1, 560
> b_(SUS301) M2 7 0000 M/ kg 1,640 1,640 1,640 1,640 1,640 1, 640 1,550
F > b (SUS304) M 3 0 0000 M kg 1,630 1,630 1,630 1,630 1,630 1,630 1,550
v b (SUS304) M3 6 0000 M/ ke 1,730 1,730 1,730 1,730 1,730 1,730 1,640
1) M4 2 0000 M/ ke 1, 690 1, 690 1,690 1, 690 1, 690 1, 690 1,610
(55400) M8 0000 11/ ke 163 163 163 163 163 463 458
(55400) M10 0000 ke 118 418 418 418 418 418 414
(S5400) M1 2 0000 1/ ke 422 422 422 422 122 422 418
(55400) M1 4 0000 M/ kg 653 653 653 653 653 653 646
(85400) M1 6 0000 kg 501 501 501 501 501 501 196
(<s4oo) M2 0 0000 M/ kg 641 641 641 641 641 641 634
00) M2 2 0000 H ke 683 683 683 683 683 683 676
(55400) M2 4 0000 1/ kg 861 861 861 861 861 861 852
16_HEHER {#(H30.11.1).xlsx 5/8
— - CHAT = 1)
< ] . H30
e il e Il N vz SATH GATH THIE SATH TATH fi
%5~ b (S5400) M2 7 0000 kg 1, 060 1,060 1, 060 1, 060 1, 060) 1, 060
%5 v b (SUS304) M8 0000 M kg 2, 700 2,700 2, 700! 2,700 2, 700) 2,700
8 b (SUS304) M10 0000 1/ kg 2, 670 2,670 2, 670) 2,670 2, 670) 2, 670
Sy (SLSSO-I) M1 2 0000 M kg 2, 640! 2,640 2, 640) 2, 640 2,640 2, 640
ﬁ-r»y NG ) M14 0000 1/ kg 3, 380 3, 380 3, 380 3,380 3, 380) 3, 380
%5 v b (SUS304) M1 6 0000 M kg 2, 920 2,920 2, 920) 2,920 2,920 2,920
1@1» (SUS304) M2 0 0000 M kg 3, 130) 3,130 3, 130) 3,130 3, 130 3, 130
55 b (SUS304) M2 4 0000 1/ kg 3, 070! 3,070 3, 070) 3,070 3,070 3,070
J)IZEMM"(/L (55400) M12X160mm 0000 M ke 352 352 352 352 352 352
I MR L 1 (S5400) M16x160m 0000 4/ kg 252 252 252 252 252 252,
JBHERERL b (55400) M12X200m 0000 M ke 313 313 313 313 313 313
J LR T (S5400) M16X20Omn 0000 M kg 226 226 226 226 226 226
JJEIEE AL F(S5400) M20X200m 0000 M ke 258 258 258 258 258 258
JJEIEEAR L F (S5400) M12X250m 0000 M ke 319) 319 319 319 319 319
J IR IEREAR /L b (S8400) M16X250m 0000 ke 210 210 210 210 210 210,
JIPHERER L B (55400) M20X250m 0000 M ke 242 242 242 242 242 242
J JEIERE AL T (S5400) M12X315m 0000 1/ kg 304 304 304 304 304 304
JIHERER L B (55400) M16xX315m 0000 M/ kg 200 200 200 200 200 200
J PR AL T (S5400) M20X315m 0000 A ke 228 228 228 228 228 228
1 EERER (55400) M12x400m 0000 1/ kg 276 276 276 276 276 276
JJEIERE AL (S5400) M16x400m 0000 M/ kg 192 192 192 192 192 192
J IR AL T (S5400) M2 040 0mn 0000 1/ ke 214 214 214 214 214 214
T IBHERER L R (S5400) M12x500m 0000 M/ kg 264 264 264 264 264 264
JIEHERER L b (S8400) M16x500mm 0000 M/ kg 182 182 182 182 182 182
1 IR L (S5400) M2 0X500mn 0000 ke 203 203 203 203 203 203
JIBIERER L R (55400) M24 %50 0mn 0000 H ke 202 202 202 202 202 202
JH,E(’*/J\/L L (55400) M2 0X630mn 0000 U/ kg 203 203 203 203 203 203
) M24X630m 0000 M/ kg 205 205 205 205 205 205
) M2 0 X80 0mn 0000 1/ kg 192 192 192 192 192 192
) M2 4%x800m 0000 M/ kg 194 194 194 194 194 194 194
) M20X1, 000m 0000 [ ke 188 188 188 188 188 188 188
) M24X1, 000m 0000 1/ kg 185 185 185 185 185 185 185
JIBIERER L B (S5400) M24X1, 250m 0000 M ke 188 188 188 188 188 188 188
L IEREAR L b (S5400) M12X160m 0000 kg 374 374 374 374 374 374 374
L HEREAR /L b (S3400) M1 220 0m 0000 ke 331 331 331 331 331 331 331
LIZIERER /L 1 (S5400) M1 6X200mn 0000 M/ ke 254 254 254 254 254 254 254
T IEREF L E_(S5400) M12X250m 0000 1 kg 295 295 295 295 295 295 295
L JZ IR L B (S5400) M16x250mm 0000 M ke 225 225 225 225 225 225 225
LIZIERER L L (SS400) M12xX315m 0000 11/ ke 274 274 274 274 274 274 274
LI L | (55400) M16x315m 0000 ke 216 216 216 216 216 216 216
~(S5400) M2 0X3 1 5mm 0000 M/ kg 220 220 220 220 220 220 220
Lﬂz H]%T/L (55400) M1 240 0m 0000 M/ kg 259 259 259 259 259 259 259
L SEREARL b (S5400) M16x400mm 0000 A ke 205 205 205 205 205 205 205
LIFIERER /L | (SS400) M2 0X400m 0000 1/ ke 210 210 210 210 210 210 210
LJZIERER /L B (SS400) M1 250 0m 0000 M/ kg 236 236 236 236 236 236 236
LJZIEREAR /L | (S5400) M 1650 0mn 0000 ke 189 189 189 189 189 189 189
LR | (55400) M2 0X500mn 0000 kg 197 197 197 197 197 197 197
(2) Shil - th% - A BN S
Fo—7—¢110~120 ERGEEE 5C450 Toooo | [ ke | 610] 610] 610] 610] 610] 610] 610[
FJLh¥Y— SC450 loooo ] [ ke | 610] 610] 610[ 610] 610] 610] 610]

16_HEMER#(H30.11.1).xlsx 6/8




CHif - [9)

o K] T H30 [
L o ERN e 1R 5HIH 6H1H THIA SHIH 9H1H TI1H m
| XY — (F—2afh 0000 M/ ke 610 610 610 610 610 610 610
Eu—5—¢110~120 SCMn2B; 0000 1/ kg 700 700 700 700 700 700 700
Fo—5—¢110~120 SCMnCr3B_[0000 kg 805 805 805 805 805 805! 805
EHE] ~ ¢ 110~120 i SCCrM3B 0000 1/ kg 705) 705 705 705 705 705 800
AFGA AL 0000 M kg 2, 300! 2,300 2, 300) 2, 300 2,300 2,300
s A 2V - WiE A 2L 0000 1/ kg 2,000 2,000 2, 000 2,000 2,000 2, 000
[ 0000 M ke 2,000 2,000 2, 000 2,000 2,000
3 PR [ P 4 0000 M ke 530 530 530 530 530
fEED 0000 1/ ke 530 530) 530 530 530
i 0000 M/ ke 530 530 530 530 530
0000 9 kg 935 935 935 935 935
0000 ke 610 610 610 610 610
P 0000 ke 665 665 665 665 665
AT (Bl ) 0000 1/ kg 823 823 823 823 823
i A ffkdh (16 FCDA00 - 450{0000 M kg 927 927 927 927 927
SR A i FEHBEES  SC450 0000 9 ke 3, 060 3, 060 3, 060! 3, 060 3, 060} 3, 060 3, 060
7V T PR SC450 0000 M kg 1,290 1,290 1,290 1,290 1, 290 1, 290 1,290
~ 7 CRIRE A~ 1,7 V) - 2ol | AJBM_t 0000 [/ m3 151, 000 151, 000 151, 000 151, 000 151, 000 151, 000 151, 000
RO, AR, ST, BEENEIEERVLOLT D,
RO I A LA & L. S AFROM R &5,
RIEM O HAiEm3E 55,
(3) AT L AHAHR - S0HE I Utk s Pl e e Sl AL
T ESEAT YV 7SR SUS304 6< t <10 0000 1/ kg 10) 10 10) 10 10 10
8 A A7 b AGHE SUS304  14< t = 0000 M/ kg 10 10 10| 10 10 10
TR AEAT /V ASH SUS304_25< 0000 1/ kg 20 20 20 20 20 20
B HEAT /L A SUS304  40< t =65 0000 M/ ke 30 30 30 30 30] 30
AT LA SUS304 0000 M ke 20 20 20 20 20 20
2T LAS SUS304 0000 1/ kg 30 30 30 30 30 30
AT v LA SUS403 0000 M ke 360 360 360 360 360 360
AT LA SUS403 100< ¢ =150 0000 1/ ke 20 20 20 20 20 20
3 SUS403 150< ¢ =200 0000 M kg 30 30 30 30 30 30
~S50C_100< ¢ =150 0000 1,/ kg 2 2 2 2 2 2
S150~S50C_150= ¢ =200 0000 kg 4 4 1 4 1 4
S15C~S50C_ 200< ¢ =250 0000 M/ ke 6 6 6 6 6 6
15C~S50C_250< ¢ =300 0000 1 ke 8 8 3 8 8 8
lifk CTdo 5, MBI B ICIE, MREIL R Y T o TEGHAZITH 2 X,
hSC4501 DAEFIZ OV TIZAMED ¢ 300mmil T T, WIS 23 Al b DIz oW T
(3) Tt it ] 1 S BMMAA S 150~S500) DIl & BT 5.
(4) KZEITL
7 T (PIBZE) 20K 0000 ke 3, 860 3, 860 3,860 3, 860 3,860 3,860] WfliEk
' h (PIZE) 20~50 0000 ke 3, 860 3, 860 3,860 3, 860 3, 860) 3,860] WMl
7 (P2 50~170 0000 ke 3, 860! 3, 860 3, 860 3, 860 3, 860 3, 860[ i
7 (PJB) 20K 0000 ke 3, 860! 3, 860 3, 860! 3, 860 3, 860 3, 860| Wi
7 (PJ¥) 20~50 0000 ke 3, 860 3, 860 3,860 3, 860 3,860 3,860| it
/] (PJ¥) 50~170 0000 ke 3, 860! 3, 860 3, 860 3, 860 3, 860 3, 860] #ffiEs
/ (L) 205Kt 0000 ke 3, 860 3, 860 3, 860 3, 860 3, 860 3,860| {lEEH
f (LJ¥) 20~50 0000 ke 3, 860! 3, 860 3, 860 3, 860 3, 860 3, 860[ Wfilizk
K (LI%) 0000 ke 3, 860 3, 860 3,860 3, 860 3, 860 3, 860| ¥l
] CEI) 0000 kg 3,750 3, 750 3, 750) 3, 750 3,750 3, 750] 4flivE
/ CFIE) 0000 ke 3,750 3,750 3,750 3,750 3, 750 3, 750| Wl
16_HEHER {#(H30.11.1).xlsx 7/8
— - CHAT = 1)
X Al oo H30 4
Y3 ok | | Hifir I TIE [ 5 [ olF [ Ohe [ S [ oiF [ 100n I i

) Al K = 5 ORI, T elLRROB & C b B,
WEAREA (ZrrTL—

1.
2. ORAE : 14.7TN,/mm2 (150kg,cm2) AL
3. WKi : ERH THRK5%

4. FEBIEFOMON : 300%LL L

5. FEEE: :

6. JLi:1.25g ‘cnd

16_HEMER#(H30.11.1).xlsx 8/8

110






